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National Chocolate-Covered
Cashews Day

The combination of cashews and
chocolate is a favorite among most
chocolate lovers who enjoy the
nutty crunch and creamy, rich
chocolate. Cashew trees are native
to Northeastern Brazil. These trees
can grow up to 32 feet tall and can
live 60 to 100 years. Cashew tree
buds produce small flowers that
start as pale green, then turn
reddish, with five slender petals. It
may surprise you to learn that the
cashew nutshell is toxic, which is
why cashews are always shelled
before they are sold. The cashew's
delicious buttery flavor is enjoyable
enough on its own, but adding
chocolate just makes it even better!
To celebrate, you can enjoy a
handful of chocolate-covered
cashews as a tasty snack. You can
also share your favorite recipes to
enjoy with friends and family.

Today in History

In 1904, Ty Cobb made his
pro debut for Augusta.
Finishing his career with
the Philadelphia Athletics,
he spent 22 seasons with
the Detroit Tigers, the last
six as the team’s player-
manager. Throughout his
career, Cobb is credited
with setting 90 MLB
records, including
stealing home.
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TRIVIA

Who was the first
president to pay off the
national debt entirely?

A Theodore Roosevelt

DID YOU KNOW? B Bill Clinton

Frozen Pizza Funeral
On March 5, 1973, hundreds

gathered in Ossineke, Michigan, C John Adams
for a memorable event: a funeral
for 30,000 frozen pizzas possibly
tainted with toxins. The bizarre
ceremony followed the discovery
of spoiled mushroom tins at United
Canning Company, leading to a TODAY'’S FUNNY
recall by pizza maker Mario | wanted to be an
Fabbrini after two test mice died. astronaut when |
Despite claims of botulism, further was a kid...

tests revealed the cause was likely
peritonitis. Although he later won a
lawsuit, Fabbrini sold his company
in the early 1980s.

D Andrew Jackson

My mom told me,
"The sky's the limit!"

TODAY’S WISDOM

“Be decisive. Right or wrong, make a decision.
The road of life is paved with flat squirrels
who couldn’t make a decision.”

- Anonymous
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How To Play:

Each 9x9 box is
comprised of 9 smaller
3x3 boxes. Each of
these smaller boxes
must be filled in with
numbers from 1-9.
Each row and column
of the larger 9x9 box
should not have any
numbers repeated.
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Helpful Tip:

If you get stuck, try
asking yourself
“Where can | place

number X in this row
or column?” Scan to

see if the number is
already in that row,
column, or box.




WORD JUMBLE

Every answer uses only the letters in the word:

PASSENGERS
1 2
3
4
5 6

7

8 9

10

Down Across
1. Stick with 2. Give Lip
sharp point 3. Leak out
2. Taunt, scorn 6. Wine is made
4. Give, move out of this
5. Sharp inhale 7. Unused, extra
6. Category 8. Area, distance

9. Acquire, make 10. Detect, viewed



Conversation Starters

Use the following conversation prompts to start a discussion
with friends or family! You may also use the provided lines
to answer the questions on your own if you prefer.

Did you go to county fairs, amusement parks
or the circus as a child?

Did you have a favorite food you always had to have?

Did you have a favorite attraction?







SOLUTIONS

Trivia Answer: D.

On January 8, 1835, President Andrew

Jackson achieved his goal of entirely

paying off the United States' national
debt. It was the only time in U.S. history

that the national debt stood at zero.
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